Lec. 23-d- definitions & justifying Wednesday, July 31, 2024 5:23 AM pefor let f: [c,d] -> R Oscillation of f Osc(f):= supf-soft ove EC, d] Ec,d] Ec,d] Ec,d] Observe] If IC, d7 & I = [a, b] + f: [a, b] -> R then $OSC(f) \leq OSC(f)$ Ic,d] [a,b] "Langer intervals give larger oscilations" Next, Consider an arbitrary fation P= $P = \{ \alpha = \chi_0 < \chi_1 < \dots < \chi_n = b \}$ let l = 1, 2, ... on the "el" in dex ranges over the bins of QCE) the 1th En' of $Q(e) = Iq_{l-1}, q_l I \text{ for } l \neq In I := \{1, 2 \dots n\}$ as m typical bin a HITTER A Note: If a MP-bin" Ixi-1, xi] it In] = [9, 7,] then $osc(f) \leq osc(f)$ After is very small $[x_{i-1}, x_i]$ [3l-1, 3l]fit as many of the "P-bins" into the "q-bins" as possible Work Harse lemma. Wereby $[N] := \{1, 2, 3, \dots, N\} \quad [n] := \{1, 2, \dots, n\}$ ¿ E[N] & LEINT So define $S_{I} := \{i \in [N] \mid \exists i \in [n] \otimes [x_{i-1}, x_{i}] \in [q_{i-1}, q_{i}] \}$ SI := [N] SI - it's a bit deviltah but 1+15 small ---. We one going to show SI is ting Main $TT(P, f) - L(P, f) = \overline{Z}_{osc}(f)_{d_i}$ then we want to split up by disjoint subsets Observe that j t SI iff I! I t In I

Rey
Observat;
Obser \Rightarrow $\#(S_{I}) \stackrel{2}{=} n$ it's dictated by Q the mesh size of Q(E) Next. for each lt In] detine $T_{\ell} \subseteq S_{I}$ by $T_{\ell} := \left\{ i \notin S_{I} \middle| I_{x_{i-1}, x_{i}} \right\} \subseteq I_{\ell-1}^{n}, \ell_{\ell} \right\}$ the nodes of the orb partian p $a = q_0$ $q_1 q_2$ $q_2 = q_0$ [q. 172] is 1 bin So we can break up the oscillations and sum then over the subjects To has charge the charge the by Chance this is the $\frac{\sum_{i \in \mathcal{L}} osc(f) A_i}{\sum_{i \in \mathcal{L}} csc(f) A_i} = \frac{n}{\sum_{i \in \mathcal{L}} csc(f) A_i} \left\{ \sum_{i \in \mathcal{L}} csc(f) A_i \right\} = \frac{n}{\sum_{i \in \mathcal{L}} csc(f) A_i} \left\{ \sum_{i \in \mathcal{L}} csc(f) A_i \right\} = \frac{n}{\sum_{i \in \mathcal{L}} csc(f) A_i} \left\{ \sum_{i \in \mathcal{L}} csc(f) A_i \right\} = \frac{n}{\sum_{i \in \mathcal{L}} csc(f) A_i} \left\{ \sum_{i \in \mathcal{L}} csc(f) A_i \right\} = \frac{n}{\sum_{i \in \mathcal{L}} csc(f) A_i} \left\{ \sum_{i \in \mathcal{L}} csc(f) A_i \right\} = \frac{n}{\sum_{i \in \mathcal{L}} csc(f) A_i} \left\{ \sum_{i \in \mathcal{L}} csc(f) A_i \right\} = \frac{n}{\sum_{i \in \mathcal{L}} csc(f) A_i} \left\{ \sum_{i \in \mathcal{L}} csc(f) A_i \right\} = \frac{n}{\sum_{i \in \mathcal{L}} csc(f) A_i} \left\{ \sum_{i \in \mathcal{L}} csc(f) A_i \right\} = \frac{n}{\sum_{i \in \mathcal{L}} csc(f) A_i} \left\{ \sum_{i \in \mathcal{L}} csc(f) A_i \right\} = \frac{n}{\sum_{i \in \mathcal{L}} csc(f) A_i} \left\{ \sum_{i \in \mathcal{L}} csc(f) A_i \right\} = \frac{n}{\sum_{i \in \mathcal{L}} csc(f) A_i} \left\{ \sum_{i \in \mathcal{L}} csc(f) A_i \right\} = \frac{n}{\sum_{i \in \mathcal{L}} csc(f) A_i} \left\{ \sum_{i \in \mathcal{L}} csc(f) A_i \right\} = \frac{n}{\sum_{i \in \mathcal{L}} csc(f) A_i} \left\{ \sum_{i \in \mathcal{L}} csc(f) A_i \right\} = \frac{n}{\sum_{i \in \mathcal{L}} csc(f) A_i} \left\{ \sum_{i \in \mathcal{L}} csc(f) A_i \right\} = \frac{n}{\sum_{i \in \mathcal{L}} csc(f) A_i} \left\{ \sum_{i \in \mathcal{L}} csc(f) A_i \right\} = \frac{n}{\sum_{i \in \mathcal{L}} csc(f) A_i} \left\{ \sum_{i \in \mathcal{L}} csc(f) A_i \right\} = \frac{n}{\sum_{i \in \mathcal{L}} csc(f) A_i} \left\{ \sum_{i \in \mathcal{L}} csc(f) A_i \right\} = \frac{n}{\sum_{i \in \mathcal{L}} csc(f) A_i} \left\{ \sum_{i \in \mathcal{L}} csc(f) A_i \right\} = \frac{n}{\sum_{i \in \mathcal{L}} csc(f) A_i} \left\{ \sum_{i \in \mathcal{L}} csc(f) A_i \right\} = \frac{n}{\sum_{i \in \mathcal{L}} csc(f) A_i} \left\{ \sum_{i \in \mathcal{L}} csc(f) A_i \right\} = \frac{n}{\sum_{i \in \mathcal{L}} csc(f) A_i} \left\{ \sum_{i \in \mathcal{L}} csc(f) A_i \right\} = \frac{n}{\sum_{i \in \mathcal{L}} csc(f) A_i} \left\{ \sum_{i \in \mathcal{L}} csc(f) A_i \right\} = \frac{n}{\sum_{i \in \mathcal{L}} csc(f) A_i} \left\{ \sum_{i \in \mathcal{L}} csc(f) A_i \right\} = \frac{n}{\sum_{i \in \mathcal{L}} csc(f) A_i} \left\{ \sum_{i \in \mathcal{L}} csc(f) A_i \right\} = \frac{n}{\sum_{i \in \mathcal{L}} csc(f) A_i} \left\{ \sum_{i \in \mathcal{L}} csc(f) A_i \right\} = \frac{n}{\sum_{i \in \mathcal{L}} csc(f) A_i} \left\{ \sum_{i \in \mathcal{L}} csc(f) A_i \right\} = \frac{n}{\sum_{i \in \mathcal{L}} csc(f) A_i} \left\{ \sum_{i \in \mathcal{L}} csc(f) A_i \right\} = \frac{n}{\sum_{i \in \mathcal{L}} csc(f) A_i} \left\{ \sum_{i \in \mathcal{L}} csc(f) A_i \right\} = \frac{n}{\sum_{i \in \mathcal{L}} csc(f) A_i} \left\{ \sum_{i \in \mathcal{L}} csc(f) A_i \right\} = \frac{n}{\sum_{i \in \mathcal{L}} csc(f) A_i} \left\{ \sum_{i \in \mathcal{L}} csc(f) A_i \right\} = \frac{n}{\sum_{i \in \mathcal{L}} csc(f) A_i} \left\{ \sum_{i \in \mathcal{L}} csc(f) A_i \right\} = \frac{n}{\sum_{i \in \mathcal{L}} csc(f) A_i} \left\{ \sum_{i \in \mathcal{L}} csc(f) A_i \right\} = \frac{n}{\sum$ U(Q)-1(Q)2= Final $\geq osc(f)A_i \leq 2M \# (s_L)sce) \leq 2Mn sce)$ So choose S(E) S.t. 2Mn S(E) < EZ € S(E) < € 4mn to Show for the workhorse lama =